2 B A—3—5E 2B olo(a))/a=Dblp(pb)) =c DF
(2=a=1,000,000, 2=<b=1,000,000, 33/4=c)

c a b
GG /GG {2 AR i {2 AR i
51181/3456 | 14.8093171--- 387072 | 21 - 33+ 7 307086, 614172, --- | 2k+31-13+31-127
2821/192 | 14.6927083: 984960 | 27+ 3*+5+19 16926, 33852, --- 2k« 3.7-13-31
665/48 13.8541666- - 640224 | 26+ 31+ 1319 3990, 7980, - 2k+3le5-7-19
4433/320 | 13.853125 535680 | 27+ 3%+ 5+ 31 26598, 53196, - 2k+3-.11-13-31
3937/288 | 13.6701388: - 213408 | 26+ 33+13+19 23622, 47244, -- 2k« 3.31-127
105/8 13.125 30720 [ 21 -3 +5 210, 420, --- 2k 3le5-7
71136 | 26 +-32+-13 - 19
3937/288 | 13.0625 348192 | 2>+ 3313+ 31 1254, 2508, --- 2k.3-11-19
812448 | 25+32+-7+13 31
12493/960 | 13.0135416: - 17280 | 273+ 5 74958, 149916, --- 2k« 3-13 - 312
11191/864 | 12.9525462: -- 235872 | 2634+ 713 67146, 134292, - 2k.3.192-31
931/72 12.9305555: - - 829440 | 21 - 3+ 5 5586, 11172, --- 2k« 37219
909792 | 25+ 3713
993/80 12.4125 345600 | 29 - 33 « 52 1986, 3972, --- 2k« 31331
806400 | 29+ 32527
589/48 12.2708333: - 11232 | 25+ 3313 3534, 7068, - 2k.3.19-31
26208 | 26+32+7+13
14105/1152 | 12.2439236 - 55296 | 21 - 33 28210, 56420 2k+5+7+13-31
195/16 12.1875 749952 | 27+ 3%+ 7+ 31 390, 780, --- 2k« 3513
1729/144 | 12.0069444: -- 54432 | 25+ 357 10374, 20748, --- 2k« 3.7-13+19
95/8 11.875 72576 | 27+ 3%+ 7 570, 1140, --- 2k+3l-5-19
93/8 11.625 71680 | 211+ 5+ 7 186, 372, ‘- 2k« 331
138240 | 21033+ 5
322560 | 210+ 3257
183/16 11.4375 92160 | 211 - 32 -5 366, 732, --- 2k - 3. 61
4921/432 | 11.3912037--- 311040 | 28+ 3>+ 5 29526, 59052, --- 2k« 3.7+19-37
45/4 11.25 8064 | 27+ 327 90, 180, --- 2k 3.5
511/48 10.6458333: - 107136 | 27+ 33 - 31 3066, 6132, - 2k« 3.7.73
1519/144 | 10.5486111"-- 196992 | 27+ 3%+ 19 3038, 6076, - 2k« 7231
39/4 9.75 120 23+-3+5 78, 156, - 2k+3-13
6722537
7680 | 2°+3+5
8184 | 22-3-11-31
523776 | 20+ 1023
155/16 9.6875 3456 | 27+ 3 310, 620, --- 2k+5-31
19/2 9.5 245760 | 24 -3+ 5 114, 228, --- 2k+31-19
12103/1296 | 9.3387345: - 7776 | 25+ 3 24206, 48412, --- 2k 721319
37/4 9.25 3840 | 28+3+5 222, 444, --- 2k« 31.37
261888 | 28 - 1023
9 9 168 | 23+3-7 18, 36, - 2k « 31
107562 | 29+3 -7
331520 | 285+ 7 - 37
691200 | 210 - 33 « 52
143/16 8.9375 122880 | 213+3 -5 286, 572, - 2k-11-13
637/72 8.8472222: - 811008 | 213 - 32+ 11 1274, 2548, --- 2k« 72413
35/4 8.75 826956 | 22+ 33131931 70, 140, -- 2k b7
6289/720 | 8.7347222--- 226800 | 24+ 3t+52+7 12578, 25156, --- 2k+19 - 331
6475/768 | 8.4309895- - 393216 | 217+ 3 19425, 58275, - 3k« BHL .7« 37
403/48 8.3958333: - 270336 | 2133 - 11 806, 1612, --- 2k-13-31
1813/216 | 8.3935185- - 393984 | 28+ 3119 3626, 7252, - 2k« 72+ 37
331/40 8275 10800 | 24 - 33+ 52 662, 1324, -- 2k« 331
25200 | 24+ 32527
33/4 8.25 1760 | 26+ 5+ 11 66, 132, - 2311
172032 | 23+3 7

k & 113EE=1)




2 B A—_3—5E 2B olo(a))/a=Dblp(p(b)) =c D&
(2=a=1,000,000, 2=b=1,000,000, c<33/4)

c a b
GG /GG {2 AR i {2 AR i
3515/432 | 8.1365740- - 145152 | 28+ 3¢+ 7 7030, 14060, --- 2k+5+19 37
10393/1296 | 8.0192901:-- 303264 | 2>+ 3613 20786, 41572, --- 2k 19 - 547
95/12 7.9166666: - 442368 | 21 - 3B 190, 380, - 2k+5-19
31/4 7.75 933888 | 214+ 3+ 19 62, 124, --- 2k« 31
185/24 7.7083333: - 6912 | 28 - 33 370, 740, --- 2k« 537
16128 | 28+ 32+ 7
91/12 7.5833333: - 96| 2°+3 182, 364, - 2k 7413
15/2 7.5 450560 | 213+ 5+ 11 30, 60, - 2k+3-5
475/64 7.421875 580608 | 210« 34+ 7 1425, 4275, --- 3k 519
133/18 7.3888888: - - 6804 | 223+ 7 266, 532, - 2k 7419
225/32 7.03125 27648 | 210 - 33 225, 675, - 3k« Bl
64512 | 210+ 327
12103/1728 | 7.0040509: - 165888 | 21 « 3¢ 36309, 108927, - k7. 13-19
7 7 24 | 23+ 3 14, 28, - 2k .7
1536 | 20+ 3
47360 | 28+ 5+ 37
343976 | 23+19-31-73
34447/5184 | 6.6448688:-- 62208 | 28+ 3 103341, 310023, --- | 3k« -19-37
13/2 6.5 30(2+3+5 26, 52, - 2k - 13
2046 | 2+3-11-31
25/4 6.25 28416 | 28+ 3 + 37 50, 100, --- 2k « 51
793/128 | 6.1953125--- 18432 | 21 - 32 2379, 7137, ‘- 3k-13-61
6 6 421 2+3-7 6, 12, - 2k -3
84 |22:3-7
160 | 255
336 | 2t+3+7
1344 | 263+ 7
86016 | 2123 -7
550095 | 3+5+7+132-31
91/16 5.6875 90112 | 28 - 11 273, 819, - 3k-91
133/24 5.5416666- - 10368 | 27 - 3¢ 399, 1197, -- 3ke7-19
49152 | 214+ 3
259/48 53958333 768 | 28+ 3 777, 2311, - k737
21/4 5.25 1152 | 27 - 32 21, 63, ‘- 3k 7
311296 | 2+ - 19
4 4 15|35 4, 8 - 2kl
1023 | 3-11-31
29127 3+7+19+73
4921/1296 | 3.7970679:-- 20736 | 28 - 3¢ 4921 71937
15/4 3.75 9472 | 28 - 37 15 35
133/36 3.6944444- - 147456 | 214 - 32 133 7-19
259/72 3.5972222: - 2304 | 28 - 32 259 737
13/4 3.25 32|25 13 13
3 3 8| 23 3 3
21|3-7
512 | 29
11/4 2.75 8192 | 213 11 11
2 2 212 2 2
4| 22
16 | 2¢
64 | 26
4096 | 212
65536 | 216
262144 | 218

k & 113EE=1)




